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[7151-1]
M PO B ABCDO| U2 440 we pojat 511, 42 BCO EYS MOIZ} 3Hf
M7 PBMO| 3Zp42%0|22

0|1 PM=2+/30|Ct 4Z% PP'M

O|ZL PP'=2+/20|Ct

A
Y EOM 2o ArES GES M2t Y POl Basis 2|2 J2= OF WIEM d EY d FE AZsfs
2 £ JAU0|BZ, EB= Q,B 0Itt FO{7 Z70A

B:EB=(k+1):1, PB:BQ,=(k+1):2
PB:BQ,= AB:BE=(k+1):1.

PC:CR,=DC: CF=(k+1):1

o|ct,
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M2 AB FHI A DCO FHE 2L A N, N2 & 1,
PQ.: Q:B= NEEB PR;:RC= NFFC (k—1):2

Ok, & TR EQ,R,F, ADP 7 BHRS HOJE %02, £ WA PN,N,& EQ R, FE BUHS HY 4 Uk

afetd B EQR,FE B ABCDO| 420/t 1202

-
a+0= 5
ol
, 6
cosf=sina= —5
ojc,
[ZI5-1 Hal]

4 POM BH ABCDO| W £MO| 22 p 0|2} 5t1, A& BCY F4S MO|Zt 5HA
2 PBMO| A ZHtZieio| B2

PM?=PB -BM’=16—4=12
o1 PNi=2 VIOl 448 PP MOl tgoles,

o/ PpP'=2+/20|C}
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Ot AP EBQ,E W0z,
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rir

Y EOM 20 AfZES |ES M2t Y PO B3fst= JJ‘:* P2 O WHEAM ¥ EL H FE B2

2AM  7A=o|lk  AB:EB=(k+1):10/28 B=

k+1
Q,B=EB= k+1 oct. A M M,E ZZ ME QR I ME Q,R,9 FHOZ 5kt & 4P PBC,
L 23 k =N ol =
PQ,R,= F30|122, PM,= rr1 O MQM: £ A& PBC, PQ R, = F201E8,
C4k—1) = . = k—1 2v/3
QR= =g PMi=2V3 5 MiMy= 33

o|ct.
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MLﬁ
O|C}. [T2fA] O[THZEO| Zo|of ofafiA,
0= 2MM; M,
O[C}. C}g Oof2ff 29| M2 PP 'MOIM, & A2 42 MMM, , MMM, 2 1:22 H30|H, & 2ZF 47f

& MM,M,, M, M,M, 2 &=o|Ct.

£ MM, My + 2 MMM, = =

2
VEE
. ’ ’ . ’ 2 2 6
cos® = sin(Z£ MyM;'M,') = sin(£ PMP’) = 1;1;/[ 253 \:/3_
o[t
P
M;
Mo,
P’ M/ My M
[7]51-2]

M7 PQ,R, O UHEO EMS 0 SR AZIE PQuR,E HAZIHOIRR H O£ AZ PQ,R,9 P
F0] Elo], L#o| ¥xI59 20| ri
1 1.3 1 _ k 23k

= 3 PMe g T X QuRe = e X X BUE 30
ol M& QR0 HZ¥ PQ,R,2 WEH HotAL TLR| L2, Of LHES AR Q,QaR,R, ol ZE3lE =

o 30 2 AFS = 2Ol o

Qz R2 Q2 M RZ

= QR0 4 PQoR,Y UEEO Hots RS 2ARK| ffell, 8 M 4F M,& 44 A& QR4 4

M
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QsR,2 SHO[2t SIAf. ME M M, ZHO|=

_ 1 V3 2v3
MiM,= k+1><PM pr1 X2 CBC=5
O|CE, A& MM, 9| Zoler LHO| A150] 2Ol B 4 Q,R,0 UHHEO 1 goicy. 5,
43k 23

3(k+1)  k+1
0|1, o|uf k= 1.50|Ct
i) k<152 A2
24/3k

Aot 20| HUF PQ,R,Y HHEHO| A QiQoR,R, O EFEL, O|if H| BRAEZ r= molth Sk
y Ak’m ¢3 a ° o)L
0| = moh— cos(ZPMP’) = 0|22 0| o IWH ABCD 29 HAIFY Hol=
4k \/§ 4\/§k‘27r
(9 40]) X cos(£PMP’) = X =
= &0 3(k+1)2° 3 9(k+1)?
o|ct,
i) k> 1.50 AL
= = | - =2 o - O 2 5 o
O] AL, A& Q,Q,R,.R, 0l Z3tEl= XOf 2|28 ZH= 29| 2|22 M,M,O0ICt &, X 2|2 k_fl o|m, ¢
3 , o _
9] Hol= (kfl)Q oItk cos(£PMP') = T?’OIE'_%, O ¥o HH ABCD 29 FAtFY| Hol=
(9] H0|) X cos(2PMP’) =
. (k+ 1) 3 (k+ 1)2
o|ct.

- 103 -



